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Candidates must write the Code on
the title page of the answer-book.
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e Please check that this question paper contains 24 printed pages.

e Code number given on the nght hand side of the question paper should be wntten on the
itle page of the answer-book by the candidate.

e Please check that this question paper contains 41 questions.

e Please write down the serial number of the question before attempting it.

e 15 mmnutes time has been allotted to read this question paper. The question paper will be
distnibuted at 10.15 am. From 10.15 a.m. to 10.30 a.m., the students will read the question
paper only and will not write any answer on the answer script during this period.
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(iii)

R F4-97 T FI% T4 J7 To1 & W Tra-ara el & a7 3o § 597
sfiedt =g fear T @1 3 g 4 9 9T ye Wikt T 999 F IR
fora & forg g7 @%a &1

(iv) S9! YT A IR 97T F F ¥t T & I JYF-JUF YT HER |
for@ &7

(v) HTTHF I GEI 18 4 F I T-UF 3% & &/ 39% K T 7%
37997 U 1T 4 2

(vi)  oPT T F YT GEIT 5 @ 13 F F99 §1-5) W P 8/ 9 I TN
30-30 1= F 3 8

(vii) ST 37 % 999 G&IT 14 @ 22 F Y¥7 diF-df17 37h1 & &1 599 ITK AT
50-50 I A &

(viii) 9T 37 & Y99 G&4T 23 & 25 & Y99 Uig-979 37! & &/ 599 IR 79T
70 =i F 33 ) |

(ix) ST d & J¥7 26 € 41 & J97 TIPS Il R SFYIRA Fgiaswed o7
& | Ied% ¥ U 37 &1 71 14 T4 TR foehedl § 8 S9! Fae UF gad
39Yh faweq gAT 8 |

General Instructions :

(i) The quesiion paper comprises of two sections A and B. You are to
attempt both the sections. ‘

(i)  All questions are compulsory.

(iii)  There is no ovérall choice. However, internal choice has been
provided in all the three questions of five marks category. Only one
option in such question is to be attempted.
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attempted separately.

All questions of Section A and all questions of Section B are to be

(v)  Question numbers 1 to 4 in Section A are one mark questions. These

are to be answered in one word or one sentence.

(vi)  Question numbers 5 to 13 in Section A are two marks questions.

These are to be answered in about 30 words each.

(vii)  Question numbers 14 to 22 in Section A are three marks questions.

These are to be answered in aboutr 50 words each.

(viii) Question numbers 23 to 25 in Section A are five marks questions.

These are to be answered in about 70 words each.

(ix)  Question numbers 26 to 41 in Section B are multiple choice

questions based on practical skills. Each question is a one mark

question. You are to select one nost appropriate response out of the

Jour provided to you.

HOT 3
SECTION A

1. R R yee weie e 8 3uferd yeeaiors ag wam ot : 1
(1) C,HsCl (i) C,HsOH
Name the functional group present in each of the following organic
compounds :
(1) C,HsCl (i) C,HsOH

2. ol U0 T 9 3 W, TEf 1 TS T8 ], SIrehter o 1 e g 2 ? 1
What will be the colour of the sky when it is observed from a place in the
absence of any atmosphere ?
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Which class of chemicals is linked to the dec¢rease in the amount of ozone

in the upper atmosphere of the earth ?

STy 3R Shae FIHTSIS e I ¢ | J 1 7

Bactena and fungi are called decomposers. Why ?

afe frdi ara 1 soeeH-Ta=Tm sma & @ 3Tl gustehal Sy faifa & 9
T 2 7 THTY] HEAT 9 % Ted I Gl a1 g ?

How can thc valency of an clement be determined if its electronic

configuration is known ? What will be the valency of an element of atomic

number ¢ (nine) ?

foret avg <X Y T BT 13 2
(a) THF goagi-fa=ma fafau
(by @ X FrauygauEfga?
(c) X’ uTgE AU UG & ¢

(dy 3% SmTEe =g gy |

An element *X’ has atomic number 13 :

(a)  Write its electron configuration.
(b)  State the group to which "X belongs ?
(c) [s ‘X’ a metal or a non-metal

(d)  Wnitc the formula of its bronude.
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State one genetically different feature between sperms and eggs of humans.
What 1s its consequence ? '

8. T & qrel ml I F fou v yad fafy &1 3mam fRen S 31 s @
NIGIEIR CIC RIS 2

List two advantages of vegetative reproduction practised in case of an
orange plant. '

9.  HYA® uul g §A e 3 A ort g sse 2

List four properties of the image formed by a plane mirror.

10. 19 g9 T YehT¥l % oot foRor Iof & AT 8 IS i ol 5w wad § @ 5N Wagw
T BT § | 1 BN @ S U gE) ween fiew e fisd o e 3o feufa o
T foarr e & 7 38wy 35 For wifena e st i 2
When we place a glass prism in the path of a narrow beam of white light a
spectrum 1s obtained. What happens when a second identical prism is

placed in an inverted position with respect to the first prism ? Draw a
labelled r: = diagram to illustrate it.

11. &8 a Hft smehien wofd gt € oY efi GueT| 59 9eTa Rt 99 FEd & 7 59
THTS o SHIOT hl 33 hHITST | 2

A star sometimes appears brighter and some other times fainter. What ts
this effect called ? State the reason for this effect.

12, oI0 SIA % ®9 | S GUE o IR @1l i g S| 2

List four advantages of water stored in the ground.

31/1/1 5 [P.T.O.
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14.

15.

16.

17.

317171

$Hifsm)

“Burning fossil fuels is a cause of global warming.” Justify this statement.

TaEg ¥ F T § 7 g, CyH o 8 GHIEgEl $ G091 Gifan) gesd
Syoft % uget o A & gHTETs T e 8 W 7

What are isomers? Draw the structures of two isomers of butane, C;Ho.
Why can’t we have isomers of first three members of alkane sertes?

F, Cl @91 Br 3@ @ & Rl v § o gaiemral soagH 8 &) 8 @
(i) Fraeht vy e stfuerem 2, (i) SR To@ i srfafsramfia & 7 o
Y% I =i HR Tled gfe Hiiv

F, Cl and Br are the elements each having seven valence electrons. Which
of these (1) has the largest atomic radius, (i1} is most reactive? Justify your

answer stating reason for each.

A-g=fE W (STDs) & A & we Ffwt (i) sfary st aon (i) arerE
HHI ZI0 B et et 4 i a5 3 e fAfad ) | S en @
e 50 TR o i erat 2, waW # 33@ Hifvu)

Explain the meaning of sexually transmitted diseases {(STDs). Give two

examples of STDs each, caused due to (1) bacterial infection and (ii) viral

infection. State in brief how the spread of such diseases may be prevented.

fordtt 1ot g1 = 91, for BB &0 e forat man 3, =1 St e g & 91y,

S bb gro Ffee e mn 2, & = )
(a) IA WY F YO & W F1 IZG Fifere Rrmahr ama Fy fih & dai F smen
WA
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(c) F,dd 8 siqued BB 3 Bb & smifér srgum s 3g@ Hifve |

A blue colour flower plant denoted by BB 1s crossbred with that of white
colour flower plant denoted by bb.

(a)  State the colour of flower you would expect in their F, generation

plants.

(b)  What must be the percentage of white flower plants in F, generation
if flowers of F, plants are self-pollinated ?
(c)  State the expected ratio of the genotypes BB and Bb in the F,

progeny.

18.  Sfd 3gWa ¥ R arcqd Bl 3 ? U IR FReht hi T sA13¢ o wnfar s @
 geaT gl ‘ 3

What is meant by the term speciation ? List four factors which could lead to

speciation.

19. WEAE AN qUl wuEY HU % v favew i fee ush F gw@i qen
TAEE & T@! 1 A form Soft & & ? IYh HROT WA 3T IR At IfE

Hrfsy 3
Distinguish between homologous organs and analogous organs. In which
_category would you place wings of a bird and wings of a bat ? Justify your
answer giving a suitable reason.
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21.

22.

23.
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T fopar SITaT B 7 Sedieh waror i 1 st eet 31T IR 3Rt g A

State the type of mirror preferred as (1) rear view mirror tn vehicles,

(1) shaving mirror. Justify your answer giving two reasons in each case.

foret el <® @ 45 cm 0 R o Oimeht H saren w1 gfifsre w8
90 cm T W foa U8 T A B | TH & VR Tge HT 3 36eh! Brw
Eﬁvﬁﬁ%ﬁﬁﬁmﬁmmlﬁ¢mgzcm%ﬁsﬁuﬁrﬁﬁﬁﬁﬁm
it |

The image of a candle flame placed at a distance of 45 cm from a spherical

lens i1s formed on a screen placed at a distance of 90 cm from the lens.
Identify the type of lens and calculate its focal length. If the height of the
flame is 2 cm, find the height of its image.

FEoE 2 m T W R R R aeF 91 F) Wy T8 3@ gha| 39 -
=1 A faftgn fored a8 o= Aifed 2| 20 < 1w fora wohr fora <1 weran
2?39 (1) 3IE-<1Y a7 5 (i) wMeA o foTe yenrer- feror i@ =it

A student cannot see a chart hanging on a wall placed at a distance of 3 m
from him. Name the defect of vision he is suffering from. How can it be

corrected ? Draw ray diagrams for the (1) defect of vision and also (i) for

1ts correction.

TIgA T SAYHISIeR! ohl THEH T T FIT 3R g 2 7 ol =it &
ﬁﬁ'ﬁ%%u@iﬁstﬁﬁmgﬂ_@ fora o1 G819 o guia A | wEk 5@ I
T W YeTs & ToTe ArgH =0 30ps 4t T o v ¢

HAT
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What is the difference between the chemical composition of soaps and
detergents? State in brief the action of soaps in removing an oily spot from
a shirt. Why are soaps not considered suitable for washing where water 1s
hard ?

Or

List in tabular form three physical and two chemical properties on the basis

o[ which ethanol angd ethanoic acid can be differentiated.

24. T wE FeEE = gieniyg hifse) Sier 1 ma St e weeEe o
ﬁmﬁamm(w)wwmwﬁawﬁmﬁﬁgﬁuﬁﬁ

-'IIHIIOhCI °h||01\

YUTERT, S TH, HIG] JTHeh, S0SRI | 5

HAAAT

HE & T S-a9 B (§) 991, (ii) YN, (jii) YRaTe, (iv) IEI—:IﬁfIEFr asn
(v) Wz T = vfirem 1 e o avia Hifsrg |

Define the terms pollination and fertilisation. Draw a diagram of a pistil
showing pollen tube growth into the ovule and label the following :

pollen grain, male gamete, female gamete, ovary.
Or

Describe in brief the role of (1) testis (1) seminal vesicle, (111) vas deferens,

(iv) ureter and (v) prostate gland in human male reproductive system.
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rivefr i 5T s % e R g TR A g s o e
i 38 aRard 1 S3yE e U e ol f v gt Raita we F
foTu ST &1 2dw % AR 16 om 1 gl o feda Tordl forma &1 R T armafia
Ao ylafsme s )

e

RIS % U % 39 5an w1 3g@ i s 3= wean & gy ed mem &
FIFTATH ! TRATHS FaT & | TH T §9 § =00 iy | B mreem <A &
MY ‘B % QI AU T ISl A 9T B H WehT31 & H=ol &l 9 & forg
TR Gattd g R 7 3fe ua e ang svyan el @ & s frares = e w2
27

Fafa 3 ome = aun w9 F IT9adATR U 3/2 U 4/3 €1 3 w5 ¥
et 2 x 10% m/s & At (i) Frata, (i) 97 | veme 1 = 39 i)

List the sign conventions for reflection of hght by spherical mirrors. Draw a
diagram and apply these conventions in the determination of focal length of
a spherical mirror which forms a three times magnified real image of an

object placed 16 cm infront of it.

Or

State the law of refraction of light that defines the refractive index of a
medium with respect to the other. Express it mathematically. How is
refractive index of any medium ‘A’ with respect to a medium ‘B’ related to
the speed of propagation of light in two media A and B ? State the name of

this constant when one medium is vacuum or air.

The refractive indices of glass and water with respect to vacuum are 3/2 and
4/3 respectively. If the speed of light in glass is 2 x 10° m/s, find the speed

of light 1n (1) vacuum, (i1) water.

Educational Material Downloadec]f ﬂom http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



& eVidyarthi

FREE Education

i«

SECTION B

26,  TETTRIAT § Y01 S R CuSO, W FeSO, o et faemaH o 1 #wawr: Rard
e 1
(A)  hIeHT B 71 gk HTe
(B) &Rl tem a1 Mg &
(C) T e e 7180 ¥
(D) T HiteT a9 it g0

The colours of aqueous solutions of CuSQy4 and FeSQ, as observed in the
laboratory are :

(A) pale green and light blue respectively

(B) light blue and dark green respectively

(C)  dark bluc and dark green respectively

(D) dark blue and pale green respectively

27. TR @ A e X T CuS0, 1 ey faermam agn i Y § FeSO, 1 S
Torerm 59 TS TR I SR X U IS AR F s A S Y A o
FF gohe T | AT 10 92 3 Y=g YU i WITH TR IR X T Y A |
fareram o & 1
(A) fem sz
(B) TN AR $ia g
(C)  TTEH 3R g Hien
(D) ey SR ITEH
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aqueous solution of FeSO, in beaker Y. He then dropped some iron pieces
in beaker X and some zinc pieces in beaker Y. After about 10 hours he

observed that the solutions in X and Y respectively appear :
(A)  blue and green

(B)  colourless and pale green

(C)  colourless and light blue

(D) greenish and colourless

s s F g e F T d FA W aam w2 7

(A) 35k Ty fiaees It B 3 I i forema it frar e ean 3
(B)  3Heh! Ty wTSt Il ¢ 3 g i fovewg &1 et A B
Q) sqaﬁrﬁmiaﬁzﬁ%sﬂwgm%zmﬁﬂwmh%l
(D) Tueh! iy fates Il @ s g i feema Ft @ e 2

Which of the following observations is true about dilute solution of acetic
acid 7

(A) It smells like vinegar and turns red litmus blue

(B) It smells like onion and turns blue litmus red

(C) It smells like orange and tumns red litmus blue

(D) It smells like vinegar and turns blue litmus red
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ST & 3R W07 i oI e & 4 1
(A)  REEh 8 g st 7 g

(B) & 3R diter Mg # e frperdt B

(C) T SR e % gorgel Freera 21

(D) T i ia % Ty Ay frherdt 2 |

A student takes Na,CQO, powder in a test tube and pours some drops of

acetic acid over it. He observes :

(A)
(B)
(C)
(D)

no reaction in the test tube
colourless gas with pungent smell
bubbles of a colourless and odourless gas

white fumes with smell of vinegar

T BT T TG | 4 mL A I oo TR 308 4 mlL VHifess an firetman
2| TR 72 39 faum =it feema T8 [ & fag wa 3@ 2 Fmm 10 fiFe & v

TE VT FA WYL :
(A) WIS 3<A ) T8 W St Y Fag |
(B) e ! W@ W Celifesh 3 o) Hefg |
(C) ¥ 398 I el Fit aell WAz wi Ry
(D) U &=s O faer |
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A student adds 4 mL of acetic acid to a test tube containing 4 mL of

distilled water. He then shakes the test tube and leaves it to settle. After

about 10 minutes he observes :

(A)
(B)
©

(D)

a layer of water over the layer of acetic acid
a layer of acetic acid over the layer of water
a precipitate settling at the bottom of the test tube

a clear colurless solution

forehl srercet dw i wiew el e o ferg whig o wd w et g
weftifa wdtea forear vt wfarfersy smman 3 | fow e svaaet 24w 6 wrew gt Fuffa

0 % Torg T /o gt /et &t w2

(A) TSR FFmF IR T

(B) W R wd & fi= i gl

(C) U3 M fam=r o sfrar it gt

(D) o= oft o o s i gt ofl i oM o2 & off= ot b +ft

To determine focal length of a concave mirror a student obtains the image

of a well lit distant obje-ct on a screen. To determine the focal length of the

given concave mirror he needs to measure the distance between :

(A)

B)

©
(D)

mirror and the object
mirror and the screen
screen and the object

screen and the object and also mirror and the screen

4
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o Tt mgie 3 g7 feuuft ) fh 2R o= oftomm wiw & & fore 3@ forelt
eI e que fom (g it et od §U) 92 W Hisid S 91ey | §6h

oy 34 B =) F Fen =ETRe ? 1
(A) S I 4O E SR W QA T AT

(B)  gdur Rt S H1 v shi 3R & ST TRy

(C) e ud g Y famsl & ¥ & A =R

(D) ¥ ud guur =l fares iy 2R & S =Rl

A student obtained a sharp image of the grills of a window on a screen

using a concave mirror. His teachcr remarked that for getting better results

a well lit distant object (preferably the sum) should be focussed on the

screen. What should be done for this purpose ?

(A) Move the screen slightly away from the mirror

(B)  Move the mirror slightly towards the screen

tC) Move the screen and the mirror away from the object

(D} Move the screen and the mirror towards the object

33.  fordlh qew fora o o2 e wiftiforar e o saa e i wisw g8 Tt #@ &
o0 &0 gr=a: e fou 7 Fo =07 37T € S wdt ww g A 2 1
(a) =i = fa=r 3R 92 & o9 gy
(b) =9 IR S & 7 ) g wf
o) et wde ey fee g
Wdi ERTSTET Y AW gt far & A o w8 i)
ey =4 F feufd o wnmnfsa e v w fam s e it s

3111 15 [P.T.O.
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{(A) c,a,d,e,
{(B) ¢c¢,d aeb
{(C) «c,dye,ab

(D) «c,a, e d, b

To determine the focal length of a convex lens by obtaining a sharp image
o[ a distant object we generally follow the following steps which are not in

proper sequence.
(a)  Ilold the lens between the object and the screen

(b)  Mecasure the distance between the lens and the screen
(c}  Select a well lit distant object

{(d)  Place a screen opposite to the object on the lab table

{e}  Adjust the position of the lens to form a sharp image
The correct sequence of these steps is :

(A) ~c,adeb

(B) «c¢,d,a,e b

(C) ¢,d,e,a,b

(D) c¢,a,e,d,b
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T o JARATRR THel H T aret) el wemmer o1 foreor =61 7o oot wffad o
fopeht w1 3 3197 Degor i e srgar aRofierg e

Exge 4] L1 Ze
I 60° 40° 61°
11 50° . 36° 51°
111 40° 28° 39°
v 30° 20° 31°
= T I R
Ay I
(B) I
(C) Il
(D) 1V

While tracing the path of a ray of light passing through a rectangular glass

slab a student tabulated his observations as given below :

S. No. Zi Lr Ze
I 60° 40° 61°

11 50° 36° 51°
I 40° . 28° 39°
IV 30° 20° 31°

The correct observation is :

(A)
B)
(©)
(D)

|
II
I
v
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36. fore B Y svften o fie o vurh wEE 1 vaw e R | et | fae

) i FW & for R feu e fafvm s =1 o) o i

(a) * hse A 19 R W, A 7 Mau awr gdn =) aorisa wek 3
FRIT AT hiteTg |

(b) & HHIAR U= 1 ITFIT Fok WIS i dE0 T ITd Hhiierng |

(© ¥ Y gy e S A et wEen 9 i for ) Heefi
B T S 33T

(d) e I AEd gL RIS F 36 TR WU i o fewrd 24 oy

{(A) d,c,b,a

(B) a,b,d,c

(C) a,d,c,b

(D) a,c,d,b

A student has to observe a permanent slide of binary fission in amoeba.

Find the correct sequence of steps gtven below for focussing the object

under a microscope. _

(a}  Place the slide on the stage, look through the eye-piece and adjust
the mirror to get proper illumination.

(b)  Focus the slide sharp using fine adjustment screw.

(c)  Look through the eye-piece and raise the objective lens using coarse
adjustment screw til} the object is focussed.

(dy  Look through the eye-piece and move the slide till the object is
visible.

(A) d,c,b,a

(B) a,b,d,c

(C) a,d,ec b

(D} a,c,d,b

311 19 [P.T.O.
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(a) (b) (c) (d)

(A) a

B) b

€ ¢

(D) d

After viewing different slides, a student draws following diagrams. Select

the one which depicts binary fission in amoeba.

JTB S

(a) (b) (c) (d)
(A) a
(B) b
C) ¢
(D) d
31/1/1 20
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(a) (b)

T §E T T AT
(A) Db,c,d, e a
(B) b,e,d,c,a
(C) b,d,e,c,a
(D) b,d,c,e,a

A student after viewing a prepared slide 1llustrates the budding in yeast in

the following order which 1s not correct :

S
OO NG
(a) ® © (@) (©)
The correct order should be :
(A) b,c,d, e, a
(B) b,e d c,a
(C) b,d,e,c,a
(D) b,d,c,e,a
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41.

3V

yferraar a s o U i @ s aw aem @ 98 39 W Fawes srfafes
EREARCEISICIEE 1
(A)  Hell e & -k TreaR

(B) nﬁag@zﬁ(aﬁm)m

C) g

(D) fheexmgm

Dry raisins were soaked in water for 2 hours, to determine the percentage of
water absorbed by raisins. Before final weighing of swollen raisins, the

extra water left on the surface of soaked raisins was removed by :

(A) gently rubbing with cotton cloth

(B)  hot air blower
(C) dry cotton wool

(D) filter paper

m@sﬁmmﬁﬁawﬁwﬁwmwaﬂmmw%wmﬁ
fretsfiad g i - , 1

R H ST HTIAA =40 g

firi @ g frufii 1 g =5 ¢

2 = e ofirfl g8 forefimi s xemm = 8 g

TR o Uy e B e A B EHE = 35 g
forafirgit g1 v STer oY wferaraa
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(B)

(€)

(D)

40g-35g

8g—5g

100
40 g

x 100
8g

S_g.___gﬁxloo

5g

While performing the experiment with raisins to determine the percentage

of water absorbed by them, a student made following measurements :

Mass of water in the beaker=40 g

Mass of raisins before soaking =5 g

Mass of raisins after soaking for 2 hours =8 g

Mass of water lefi in the beaker after the experiment =35 ¢g

The percentage of water absorbed by raisins is :

(A)

(B)

(C)

(D)

40g-35g

40g—35gx

8g—-5¢g

S_g____s_gxl

100
i5g

100
40 g

%100
8g

00
5g
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